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a) Distinguish between BOD & COD. R SR kf _3.;156; ey
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aired for ﬁmg of 1,00,000 liters of water 06
. The purity of lime is 70% & soda is 85%
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. List th“_e\meﬂ;ods used. Discuss extrusion moulding in detail. 06
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<b) i) Whatare i’ﬂrﬁtmgs of p'hase rule? 03
- i) Draw-a ne; eled dlagram of the Rotary kiln. 02

rs of hazd water was passed through a zeolite softener. The exhausted zeolite 04
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o ZO hi;ers of NaCl having strength of 30g/1 of NaCl. Calculate the hardness of
% : ;';I - _\,'\. : I:\‘ .._\‘-. q.r v
..:h :SL”"..{‘:'{. \Na ‘er_\“?'- ;\ N;} ‘_"'_ “_f Y
23 0\ VNI DR o N
: M I P T S A e
T a2 h:'.‘ I,_'_"Tﬁ_: ’7"-\'\;{‘:"”':\ AL e «F‘ ;‘
i < -\_:n O .; ﬁ;;_ ""“-?'_JET_;Q‘”_: :..,"-_‘::7- ;;"‘*
AR A NI Page 1 0f 2
w‘— 3 ‘K" C80E4FE6372EAB1099FFA19B77930BDF
N oA | "-h::;u\hﬁ ) \_'\"“}:H—. -HI.--... ‘



04

1 was dissolved in alcohol. The‘
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ii) Distinguish between the dry & wet proces
labelling.

KOH solution. At the end point the burette readin

Explain with a flow sheet diagram.
acid value of the oil

i) Glass transition temperature
ii) Conducting polymers

(density of oil = 0.86 g/ml)
iii)Vulcanization

b) i) 20ml of lubricating o
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Graphite.

a) What are
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